N 3

Mounting recommendations from SecuRam:

1. Never remove the lock body cover. Removal of the cover voids product warranty.

2. Modifications on the lock body are not recommended and will void warranty.

3. Use a brand new 9V ALKALINE 6LR61 battery only. Recommend using Energizer ™ or
Duracel™ brand.

4. A minimum of 1-2mm of space is required between the flat end of the bolt and the safe's
blocking bar or cam plate when the safe's boltwork is fully locked position. This is
because of the depression on the bolt may not allow it to be retracted and may lead to

inconsistent lock operations. (Fig. 8)

5. Make sure the lock body is fully operational before closing the safe door for the first time.

6. Entrypad Base is installed outside the safe door and mounted with two Entrypad Base

. H H Mounting Screws M4*8 provided by the factory. Entrypad is magnetic fixed to the

E IeCtron I C Com b I n atlo n CO ntrOI Ier Entrypad Base. Lock Body is installed inside the safe door and mounted with three

Lock Mounting Screws M6*25.4 provided by the factory. Entrypad and Lock Body are

Model SafeLogiC Dirve:Comprised Of connected with a 4-wire cable and a 8*8 spindle (Fig. 1).
keypad model EM-1701A and the following
lock DL-1701

Lock Body

Installation Instructions

8*8 Spindle

=

3 pcs lock mounting
screws: M6*25.4

Entrypad

Version No.: V1.120191104(A)
SECURAM Systems,inc.

Fig.1

/ K Note:All dimensions are in millimeters y




4 N

7. Drill and tap two mounting holes for two M4(US Standard 8-32 UNC 2B) screws, one
spindle hole on the safe front door or plate. Make sure three holes' center should be in
one vertical line. The maximum diameter of the hole for the spindle is 12mm, and the

minmum is 11mm. Big holes are not permissible. (Fig. 2)

8. Drill and tap three mounting holes for three M6 screws(US Standard 1/4"-20 UNC) on
the safe's mounting plate. (Fig. 3) Define the mounting position of the lock body based
on the safe inner structure. If mounted as shown in Fig 1., Hole A needs to be against
spindle hole.

9. Determine the Door Thickness (DT) distance from the mounting surface for the Lock
Body to the mounting surface for the EntryPad. Cut the spindle to Door Thickness (DT)
+11/16 (17mm) see Fig.4. The spindle must be smooth to prevent damage to the cable.

999 32.2 2-M4(US 8-32 Screws)

Fig. 2
Thickness
49.5 Hole A 2-M4 —
) J/
o ™| © N N
ol —| < % | ﬁt 8'8 L4
o <N qg
> ® £ # I
Nd J i 10
3-96.6 74
66.7 78
84.9 25.2 —
. Spindle length=Thickpess+17
12.5(The distance of latch movement)

Fig. 3 Fig. 4
\ Note:All dimensions are in millimeters y

: N

Install Entrypad Base:

1. Route the end of the cable through the spindle. Make sure the spindle hole has no sharp
edges that may damage the cable. Gently pull the 4-wire cable through the spindle.

2. Insert the spindle into the Entrypad Base (Fig.5)

. Route the spindle with the cable through the spindle hole in the safe door.

4. Use two M4*8(US Standard 8-32 UNC2B)screws to mount the Entrypad base, with "UP"

sign faced up. (Fig. 6) Recommended torque: 10kgf.cm, screws with anti-loose glue are
recommened.

w

i°UPj+ sign

Fig. 6

\ Note:All dimensions are in millimeters y




a )

Install the lock body:

1.Carefully insert the spindle with the cable through the center spindle hole of the lock body.

2.Use three mounting M6*25.4 (US Standard 1/4"-20 UNC) screws provided by the factory
to screw down the lock body to the mounting plate. (Fig. 8) It is important to make
sure there is a distance of 1-2mm between the flat end of the bolt and the safe's
blocking bar or plate. (Fig. 8) Recommended torque:50kgf.cm, screws with anti-loose
glue are recommened.

3.Gently pull on the cable t o straight to ensure there is no excess cable in the hole. (Fig. 7)

4-Wire Cable
Connector
4-Wire Cable Socket

Keep 1-2mm space between

\O Q l_ the plate and the deadbolt in

locked position.

1 —

Keep 1-2mm space between
the plate and the deadbolt in
locked position.

Fig. 8

s

4. Install the two plastic protective holders provided by the factory to fix the cable in the
round groove.(Fig. 10). It is important to make sure the protective holders are securely
in place to protect the cable from being damaged.

5. Place the cable in the groove as shown. (Fig. 11).

6. Press the connector into the socket on the lock body. Make sure the connector is
securely in place. (Fig. 9)

Round Groove

Plastic protective
holders

Fig. 9

Interface to Entrypad

N

Fig. 10

K Note:All dimensions are in millimeters

&

K Note:All dimensions are in millimeters

~




-

Install Entrypad and Test:

1. Install the battery with the correct orientation as indicated by the "+" and "-". (Fig. 12)

2. Attach the Entrypad to Entrypad base with two pins on the Entrypad Base matching the
two pin holes on the back of the Entrypad (Fig.13 & 14).

3. The installation is complete. Do not close the safe door until the controller has been
successfully operated at least three times in a row. Refer to the user's manual that was
packaged with your controller.

"4 and "

Fig. 11

Pin Holes

Fig. 12

K Note:All dimensions are in millimeters

&

4 )

Deadbolt actuator protection:

1.The actuator body is designed to be mounted inside a secure container. The container
must be constructed to offer protection against destructive burglary attack directed at the
actuator. Actuator protection may include anti-drilling plates , relock devices, relock
components, or any combination of these.

Following figured is a recommended protection by anti-drilling plate. Anti-drilling plate is
weld between mounting plate and safe's door. (Fig. 13)

2.Recommend: Please add a Relock part on our lock body.

Safe's Door
Anti-drilling Plate

Mounting Plate

Lock Body

Q Mounting Screws

Fig. 13

K Note:All dimensions are in millimeters y




	DD手动方舌锁安装说明201901292000 Model
	DD手动方舌锁安装说明20220127-Model2.PDF
	DD手动方舌锁安装说明201901292000 Model

	DD手动方舌锁安装说明20220127-Model3.PDF
	DD手动方舌锁安装说明201901292000 Model

	DD手动方舌锁安装说明20220127-Model4.PDF
	DD手动方舌锁安装说明201901292000 Model


